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SECTION - A
i) General Awareness

Entomology is the science that
studies

(A) Behavior of human beings
(B) Insecls

(C)] The onginand history of
technical and scienlific terms
The formation of rocks

()

The largest fresh water lake in India is
(A) Pulicat Lake

(B) Veeranam Lake

(C) Chilka Lake

(D) Kolleru Lake

The headguater of the Coffes Board
of India is

(A) Mysare

(B) Kolkata

(C) Bangalore

(D} Cochin

Film and TV Institute of India is
located at

(&) Pune

(B) Rajkot

(C) Pimpri

(D) Perambur

Who among the following appoints
the Prime Minister of India 7

{A) Lok Sabha

(B) Rajya Sabha

(C) Thea President of India

(D) The Chief Justice of Supreme Court

A4

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

6. Coral reefs in India can be found in
(A} The coast of Orissa
(B) Waltair
(C) Rameshwaram
(D) Trivandriem

7. Heavy Water Project (Talcher) and
Fertilizer plant (Paradeep) are
famous industries of
(A)
(B)
(C)
(D}

Orissa

Tamil Nadu
Andhra Pradesh
Kerala

8. India's first Technicolor film
in the early 18505 was produced by

— S —

(A} “Jhansi Ki Rani', Sohrab Modi

(B) ‘Jnansi Ki Rani’, Sir Syed Ahmed
(C) "Mirza Ghalib', Schrab Modi
(D) ‘Mirza Ghalib', Munshi Pramchand

9, Ilspeed of rotation of the earth
increases, waight of the body

(A] Increases

(B) Ramain unchanged

(C} Decreases

(D} May decrgase or increase

10. Human Rights Day is on

(A) 24 February
(BY 10 December
(C) 15 May

(O] 21 July
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11.

12.

13.

14,

15.

A~

Indian Institute of Petroleumn i
located at

(A} Dehradun
(B) HKolkata
(C) Dhanbad
(D) New Delhi

Kathak Nauntanki, Jhora and Kajri
are the important dances af

(A) Uttaranchai
(B) Uttar Pradesh
(C) Jharkhand
(D} Chattisgarh

Taoism Is followed in

(A) Weorldwide

(B) lranand Morthwast India

(Cy China, Taiwan, Nauru, Brunei,
Singapore and Vietnam

(D) Japan

The system of competitive
axamination for civil sarvice was
accepted in principle in the year
(A) 1833

(B) 1B53

(C) 1858

(0 1882

Maohintattam dance farm developed
ariginally in which Stala 1

(A} Tamil Nadu

(B) Orissa

(C) Kerala

(D} Karnataka

|
e

16.

T

18.

19,

24,

A

The National Song of India was
composed by

(Al
(B)
(C)
(O}

Rabindranath Tagore
Bankim Chandra Chatterjl
lgbal

Jai Shankar Prasad

Whio has written the book "My
Frazen Turbulence in Kashmir 7

(A) AneesJung
(B) Jagmohan

(C} M. J. Akbar
(D) Missim Ezekiel

Who directed the film ‘Sardar’ 7
[A)
(B)
(<)
(D}

Das Gupta
Shyam Benegal
Tapan Sinha
Katan Mehta

Which of the following was not a
Canstituent Assembly Member 7

(A) G. Durgabal Deshmukh
(B) Mrs. HansaMenta

(C) Mrs. Renuka Roy

(D) Vijayalaxmi Pandit

The financial year in India starts from
(A
(B)
(G
(D)

January
April
March
October

Latest Sgrkari Jobs, Govt Exam Results
Vacancies and updates on one click m




Illillllﬂlllilllll! MO0 0 A

11, ardtE v2ifea den i fEm 2
(A) FE0EA
(B) el
(C) e
(D) =5t

12, =, Hlchl, S I Hail 98 59 T4
] FUEET T TR E
(A) I
(B) IWWEW
(C) TEs
(D) afET

13. THERFIGEATHETE
(A) FErEwd
(B) Z09 3 I -9 A
(C) =, Fam, e, g, B s
Eprcieks

(DY) FaHEH

14, i A3 & o wfaartim ofien =
yafn = e m et wa fe

T 7
{A) 1833 (B) 1853
(C) 1B58 (D) 1882

15, E; HITE- 1120 37 W 5 e

= H &3 ¢
(&) e (B) srEET
(C) F& (D) A=

A

16.

17.

18.

19.

20.

JOD-16/PGT-AGRIX-14

T o TG ol (a1 5 A
(A) Tl 3R

(B) e T S

(C) whanet

(D) =4 7= 9ER

"o e z=fee T e e
A o 7

(A) FHE =

(B) FHTEA

(C) "o . 3

(D) FfEmzzr

fieen "wem = P Fe e 7
(A) =8 T

(B) T FHTE

(C) & faee

(D) Had TEm

fad g s - S e A 8
(4) = giens g
(B) =fafE gE g
(C) =it toERI T
(D) FEsa==iiatE

qTA T Taeg 79 1 370 o0E Bl
(A) =

(B) =

(C) me

(D) 7=

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

S
E———




JOD-16/PGT-AGRIX-14

VI 0O

if) General Intelligence and Reasoning Ability

21. Sponge is to porous as rubber is to
(A} massive
(B} solid
(C) slastic
(D) inflexible

£2. Here are some words franslated from
an artificial fanguage.

myncabel means saddle horse
conowir means trail ride

cabelalma means horse blankat
Which word could mean “horse ride" 7

(A} cabelwir
(B) conocabal
(C)  aimamyn
(D) conoalma

Directions for Q. No. 23 and 24 - Each
Question has an underlined word followad
by four answer choicss. You will choose
the word that is a necessary part of the
undarined word.

23, lightning
(A)  electricity
(B) thunder
(C)} brightness
(D} ramn

24, deser

A+

Directions for Q. No. 25 10 27 : Each

problem consists of three slatements,
Based on the first two statements, the third
staterment may be true, false, or uricertain,

25. Taking the train across town is quicker
than taking the bus.
Taking the bus across town is slower
than driving a car,
Taking the train across town is Quicker
than driving a car.
I the first two statements are true, the
third statement is

(A} True
(B} False
(C) Uncertain
(D) Certain
26. Cloudy days tend to be mora windy
than sunny days.
Foggy days tend to be less windy

than cloudy days.
Sunny days tend to be less windy

than foggy days.
If the first two statements are try &,

the third staternent is
(A} True

(B} Falze

(C) Uncertain

(0} Cerlain
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BT ERWATIEEF R | ps 0 5 053 27) - vl w A
{2] g EE; :;u wftfer # | weet o1 =l & aTaR 9 AET
Ky N o e, 3 W SR ArEE R
T A ATHT o 5 TTea) o S 5
E B 25 WEHEEA T A G T A TFATE |

myncabel FOAEE B HEE B (saddle
horse)
conowir %1 Haag ¢ o0 153 {trail ride)

‘cabelaima &1 96T & BT S92 (horse

blankeat)

“gid 182" (horse ride) = e S
% BT 7

{A) cabelwir

(B) conocabel

(C) almamyn

(D} conocalma

TrTiE T1es 1 STETIE W ST ¥eE 0|

23.

a4,

A

LEGH
(A) TR
(B) FHEFEEL
(C) e
(D) =M

(A) FFEE
(8) HH=0
(C) WEAE
(D} FHAE
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27, Ata parking lot, a sedan is parked 29, Arrange the following in a meaningful
to the right of a pickup and to the left Shquencd
of a sport utility vehicle. 1, reang
2. Composing
A minivan is parked 1o the left of the
3. Writing
pickup. :
4, Printing
The minivan is parked between the
1 4
pickup and the sedan. ) 1:3:2
(B) 2341
I the first two staterments are true,
. {C) 3124
the third statement is
() 3241

(&) True
Direction for . No. 30 and 31 : In each
(B) False series, look for the degres and direction
of change between the numbers. In other
words, do the numbers increase or
(D) Certain decrease, and by how much.

(C) Uncertain

30. Lookatthissaries: 2.4, 6, 8,10, ...

28. Armrange the following in 2 meaningful Wihal Atimbee should sams nat 7
SeqUEencs : A 11
1. Honsy By 12
2. Flower (C) 13
D) 14
3. Bee L)

31. Look at this senes : 201, 202, 204,

4 Wax
207, ... What number should come
(A) 205

B) 2143
(B) 208

(C) 2314 {C) 210

(o) 4321 {0} 211

Ax A0-
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27, TF WIFEeN T ° U fiwer & e

28.

A-

U T2 & o wwd! F sl
forpary 1 5t S fefga g

T o 927 5 F= ifida =t o
Fmm e

Hfe wew =1 o 7o 8, b e s
=

(A) ==
8) %8

(c) wffrm
(D) s

= syl @ A waEa |
1. =

2 A

3. HuEdl

4, TH

(A) 1342

(B) 2.1.43

(C) 2.3.1.4

(D) 4321
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29, = F1 syl 5oy § ey |

1.

(A)
{B)
(C)
()

e

L

e

1324
2,3.4,1
3,124
3.2.4.1

2. TP Al
3.
4

. B

e (9. %, 30 5 31) ; Yo Ymen § e
% e % FEera F a4 o faen £ afw ae
#ifsm | gaeE o), S aed @ g2 8, o
A & 7

30, T 2, 4, 6, 8,10, ... 7 3 g
FRHEIE?

31

11-

(A}
(B]
(C)
(D)

11
12
13
14

AT 201, 202, 204, 207, ... T 37
HEnERAE R

(A}
(B)
(<)
(0

205
208
210
211
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jlr.'lfrucﬂnn for Q. No. 3210 35 : Look carefyl)
or the pattern, and then choose which :
of numbers COMas next, e
32, 3810 1517 22 24

(4] 2628

(B) 2934

(C) 2931

(D) 2831

33. 4726101320 15
(A) 144
B) 1417
(C) 1814
(D) 1814

34, 322926232017 14
(A] 118
(B) 128
(C) 117
(D) 3229

35. 162656 38 45 68 56
(Al 88885
(B) 8482
(C) &880
(D) 78588

38. Lﬁ_r-f;;r;:r:rg does nof belong with
(A) heading
(B)  body
(C)  ietter
) closing

Asx
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37. CAT:DDY:Big 7
(A) CLL
(8) CLM
(C) oML
(D) cep

38. KMF:LLH:RMS: 2
(A) SLR
8) SLU
(C) ssu
(D) sUs

39. BIGE ; JQOM - BYwu: 2
(A} AGFD
(B) ZFDB
(C) ZGEC
(D) ZYvx

Direction for O, No. 40 : Choose tha! set of
.nur.nhars from the iour alternative sets, that
15 similar lo the given set,
40. (32 24 8)

(A) (28 32 42)

(B) (34,24 14)

(C) (24, 18, 0)

(O} {42 34, 18)
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fréw(n. 7. 328 95) T Fiwmadfan | 37, cAT DDV BIG:?
1T ST HE e g e |
(A) CLL
32. 381015172224
(B) CLM
(A) 28528
(B) 2934 (C) CML
(C) 2931 (D) CEP
(D) 26 31
38, KMF. . LLH:RMS: 7
33. 4726101232016
(A) SLR
(A) 144
B) 1417 (el
C) 1814 (C) SSU
(D) 1914 Dy SUS
34, 322926232017 14 :
A 118 38. BIGE:JQOM: RYWU ;7
B 128 (4) AGFD
(Cy 117 (B) ZFDB
(D) 3223 (€) ZGEC
35. 1626 56 36 46 68 56 (D) ZYVX
(A) 8866
(B) 6482 Em (9. 7. 40) ; 38 778 e wgE S A
(C) 8680 Hie 7, fEFet aee & e Hife
(D) 7668
. 40. (32,248
38, A TSSO | ]
o (A (26,32, 42)
(B) T U (B) (34,24, 14)
(Cy W (Cy (24, 18,0)
(D) =i (D) (42 34 16)

A
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41,

42,

43,

44,

{00000 0 N 0 0

iii) Arithmetical and Numerical Ability

What is the least number of squares
tiles required to pave the floor of a
room 15 m 17 cm long and & m 2 cm
broad ?

(A) B14
(C) B4D

(B) 820
(D) 844

In Arun's opinion, his weight is greater
than 65 kg but less than 72 kg. His
brother does not agrea with Arun and
he thinks that Arun's weight is greater
than 80 kg but less than 70 kg. His
mother's view is that his weight cannat
be greater than 68 kg. If all are them are
comect in thelr estimation, what is the
average of different probable weights
of Arun 7

(A) 67 kg

(B) B8 kg

(C) 69kg

(D) Data inadeguate

The effective annual rate of interest
corresponding to a nominal rate of 6%
per annum payable half-yearly is

(A) 6.06% (B} 607%
{C) 6.08% (D) 6.09%

The top of a 15 matre high tower
makes an angle of elevation of 80°
with tha bottom of an electric pole and
angle of alevation of 30" with the 1op
aof the pole. What Is the height of the
electnc pole 7

(&) Bmeires
(B) B meatres
(C) 10 metres
(D} 12metres

A4-

45,

48,

47.

48,

43,

On dividing a number by 5, we get 3
as remainder. What will the remainder
when the sguare of this number s
divided by 5 7

(A) 0
C) 2

(B) 1
Dy 4

In an election between two candidates,
one got 55% of the tolal valid votes, 20%
of the votes were invalid. If the lotal
number of voles was 7500, tha number
of valid votes that the other candidate

got, was
(A) 2700 By 2900
(C) 3000 (D) 3100

In how many different ways can the
letters of the word ‘DETAIL' be arranged
in such a way that the vowels occupy
only the odd positions ?

(A) 32 (B) 48

(C) 36 (D) 60

Two pipes A and B can fill a tank in
15 minutes and 20 minutes
respectively. Both the pipes are
opened together but after 4 minutes,
pipe A is turned off. What is the total
time required to fill the tank 7

(A} 10 min. 20 sec.

(B} 11 min. 45 sec.

(C} 12 min. 30 sec

(DY 14 min. 40 sec.

Two dice are tossed. The probability
that the total scora is a prime number is

(A) 176 (B} 512
L I (D) 79
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15, 17§47, o afiro ., 28 1, 45. THEENF 58 QIS4 56 3 FFAIE |
Srard 3 w9 F w9 0 e 3 & TfE 35 T & 1 15 E W A & A
feu o =g SYIET 2eE 1 S%A T TR 2
Bt 7 (&) 0 (B) 1
(A) B14 (B) B20 (cy 2 (D} 4
M i a6, @ s o 3w A
STV T 3 ST e ae 65 R T FT 55% T Brod # = 20% W
# Wi o 72 R, @ w0 2 ) 3EE s & | af 355 e o TE 7500
TS SrEEE ST B EIsal # e ST =1 1 g WeATH] 3 A9 71 ) we ol
s sofEm A sfsafm 0T o B (A} 2700 (B) 2900
¥ § | 3gd o =1 Fenw & 3w 199 (C) 3000 (D) 3100
68 e m. § wifte ol 8 v | 1l weft R -
—F s B e # oA e & R | 4T 'D‘:?FAIL'HEEMETW%
FurE A = shma e 2 T O WA 9 O] § =4 = STE
Ay s7REm, Tﬁzﬂﬂwmﬁmﬂ,gﬁ?ﬁ
GpiaaR E::: 38 (D) &0
() e9tH.m.
(D) syvafE STwe 48. A 3T B A TE 7 = wA 15

» 31 20 Tz & W1 @ £ | 51 76 U
Wﬁfﬁmﬁ?ﬂﬁmﬁ*m T e W 1, i 4 e e
;;ﬁ%mmwmﬂ’rmﬂlm AFm = Es e e | 3mSR

: _ i W R S I 2
(A) 6.06% (B) 6.07% e
(C) 6.08% (D) 6:09% (A FeiScl s

(B) 110z 458%2
T 153 ST & 2 1 e () 12fimRandEs
3] e = W | 60° =1 IohTH =
ﬁm@%ﬁw#aaﬂm O
AT A A R 3 S we 40, I F THEHAE | T T AT
A% B 2 7 s S o TR S
(A] 5TH (B] ¥ (A) 1/8 (B) 5/12
€y 10T (D) 129k Gy 2 Dy 79
-15-
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50.

51

5.

53.

54.

23

A

Sachin is younger than Rahul by

7 years. If their ages are in the
respective ratio of 7 1 9, how old is
Sachin 7

(A) 16 years (B) 18 years
(C) 28years (D) 24.5years

The least number which when
divided by 5, 8 , 7 and B leaves 8
remainder 3, but when divided by 2
lgaves no remainder, is

(A) 1877 (B} 1683
{C) 2523 (D) 3363

Find a positive number which when
increased by 17 is equal to 60 times
the reciprocal of the number.

(A) 3 (B) 10

{Cy 17 (D) 20

A train speeds past a pole in

15 seconds and a platform 100 m
long in 25 seconds. |ts length is
(A) 50m

(BY 150m

(C) 200m

(D) Data inadequale

A trader mixes 26 kg of nce at
Rs. 20 per kg with 30 kg of rice of
othier variety at As. 36 per kg and
zglls the mixture at Rs. 30 per kg.
His profit parcent is

{A) Mo profit, no loss (B} 5%
(C) B% (D) 10%

The salarles A, 8, C are in the ratio
-3 -5 |f the incraments of 15%, 10%
and 20% are allowed respectively In
iheir salaries, then what will be new
ratio of their salaries 7

(A} 3:3:10

(B) 10:11:20

(C) 23:33:60

(D) Cannot bs determined

56,

57,

58B.

59,

60

A sum of money amounts to Rs. 9,800
after § years and Rs. 12,005 after

g years at the same rate of simple
inarest. The rate of interest per annum is
(A) 5% (B) B%

(C) 12% (D) 158%

How many kilogram of sugar costing
As. 8 per kg must be mixed with 27 kg
of sugar costing As. 7 per kg so that
thera may be a gain of 10% by selling
the mixture at As, 9.24 perkg ?

(A} 36 kg (B) 42kg
(C) 54kg (DY 63 kg

in covering a distance of 30 km,
Abhay takes 2 hours more than
samear. If Abhay doubles his speed,
then he would take 1 hour less than
Sameer, Abhay's speed s

(A) 5 kmph (B)
(C) .25 kmph (D)

B kmph
7.5 kmph

4 men and & women can complete
a work in 8 days, while 3 men and

< women can complete it in 10 days.
In how many days will 10 womean
gomplete it ?
(A) 35

{C) 45

(8) 40
(D) 50

A cistarn of capacity 8000 litres
measures extemally 33 mby 26 m
by 1.1 mand its walls are 5 cm thick.
The thickness of the bottom is

(A} S0cocm (B) 1dm
(Cy 1m oy 1.1em §
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50.

a1,

52.

Ll

24,

23

As

wfem TEs | 7 919 9120 § | Al 9
I EAN: 72 9 FATE A 8, 7 A
IHUF R 7
(A) t6@E@
(C) 28®=

e AET AN #1549 5,6, 7 WU 8H
HqrT STaT # 7E 3 Y 54 & i 99

(B) 1B¥E
(D) 24.59

TH G M A R T T A ==,
FEAENR

(A) 1877 (B) 1683
(C) 2523 (B 3363

il o e AT, 9 36 17 8 3
e & 77 TR T = 1 % 60

R

(A) 3 (B] 10

(C)y 17 (D) 20

U 2R U W w15 @ | i

100 T =2 hd 51 26 HFE DU a1 2 |
TH | TR T

(&) S0 (8} 150 L
(C) 200t (D) 3T HiF

i ST 20 %, WA e o g

26 % m. =19e 78 %9 % 36 %, Wi
et om T 30 %, o, 9Ee g e
ae ffam = 30 =, i e Tm
0 ST & | FHE gATE i | 2

(A) FEEMTIZTE (B) 5%
(C) 8% (D) 10%

ABIRCHIFT2:3:5FFHER|
afe 3 A0 H FEE: 15%, 10% 3T.20%
i T o A R A S A =0 ] S
FE 7

(&) 3:3:10

(B} 10:11:20

(C) 23:33:60

s} Bratis ey =t s o=t

A7
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57.

58.

58,
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U TR TE s
9800 %, BT & S 8 99 H 12,005 %.
Bial & | Hrerr i = e
(A) 5% (B) 8%
{G} 12% (D) 15%

9%, Wi fre me =t fraet e o
4t 7 5. vfa e om Tt 27 e
mE S+ § e Bt e e =
TTH B S S F 9.24 3, Wi

E 21 W w1 W W 7
(A 36T (B 42fF. m,
(C) 54 Fk. . (D) 63%F. am

30 fr. 1. &1 2t 73 == % Tom avm
Feftt # 2 52 sl o 2 | 978 S99
ST Tl P F § T T T
1 H21 %0 T R | 30 A e 2

(&) 5% sREm

(B} & .M. via g2

(C) 625 & waga

o) 7.5 s

4 59 SN 6 HTEET U T G T A
o T 1 i 3 N S 7 A o
Fm 10 f51 8 miwe e # 1 10 fea
oz w4 Frme 7 9 qui i 2

(A) 35 (B) 40

(C) 45 (B) 50

T 8000w s AT =R = A T
f3amix26dix 11t sframs A
SrEEsd. o B EE s SEE T
(A} SOHE.HI. By 13.9.

(C) 14 (D) 1.1H. W,

——
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iv) Test of Language : Hindi
aet wfte ; fe=h

Trrferfiaa wel o v e ferfian |

61, T @ Fefiadfigd 7
(A) TR (B) TFErR

(C) T (D) HEfwEA

62, ‘SEEE w1 YaEEE e

(A) ey (B) =

(C) THEm (D)
63, ‘amEY FfaEmam

(A) FTH= (B) =T

(C) 3f (D) A
64, FHtEmam g s fis=m

(A) wieETE (B) i

(C) wfewra (D) whefea
65, WS 9 T

(A) T (B) T

(C) =fe= @y ==

B66. [5 ATH w1 W L |
(A) 3 A B i SR |
(B) wHaEmaE S e
(C) T 5%l B4 F1 FA1 R |
(D) 2 A% B i wH—=T

A7. WG OWAT -

(A) HEETF] (B) T

(C) waeEfERET (D) WEE
68, ST + 39 I A RO

(A} g (B) wffzEm

(C) =gy (D) HqeE
A=

18-

fEm 6o - 70 : TR mEn FioEEm St
69. W + 374 = WHEA

(A) a1 wfi (B) TmEhs

(C) F&H™ (D) =mE
70. T + Hfk = wefd

(A) e Efy (B) T

c) s (D) iy

A, S SR e 0 A T E e

A | At S FET T 2

(A) =9 BTy T

(B) 9T A 9 3]

{C) 237 el |a Hen

(D) =1 =TET = F qEE
72, TR SR ST STE A w5
% fore teftemea 2nip & fros
e AR TET o] A o | T
HAME FEH T gun * o i
=1 o ¥R Y | TEE EAn s fE
it faa st g v fam |
(8) =, 8 (B) #.%
(C) TM,% (D) 9H, 7

73, == I e A e gl e
R FH q R v
(A} TETE (B) a9
(C) T (D) o
74, ' - RN w1 amEs fuw g
(A) =S EEw
B) EWA R
(C) Zw o faEm
(D) = o e
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75. ‘HIgH o1 HgHT 98

(A) T (B) e
(C) it (D) =

3w 76 - 80 ; 3mfER TR

Freferfean e =1 sgEs vg 3 35d
W fim WY1 & I 180 T AEfased i IR A |
el EEnw ama w|

uitETE 1
A A TET E A (SR e
1 FIEdl & | 98 39 FuE | Aihw 79
e T R o e A e e
frerer | 50 aTTET & 6 3R 2 A 3 geedi
F T E EA A £ | off =2 g g
& 1 33 Tonelt T T 35 FEA 9 331 FA B
TEF U] - T o T ) S O E #iih
I urE & 1 et 8 ekl s ai
s Tk TEn i AT P T R

afgeg 2

T =l & uid e 5ha 1, THien 38 s
§ 5 v 59 7 STEHTEES S w4 | 9
fyg T o= g0 = B, S 369
sEaE s & fr g arfoes (=) o
1 rard it 37 e Bl e () S
e 3 T & =IaET 1 EE | R i
it g | wg STeal &, T G w2
offt 38 7= T W = A TR
To firen e g § A afe fage o w
STEEE WA A A5 # FEe A% B HEl,
TafAL S T AT W R W 2 |
76. | HEIH A A AIen A #

aEE

(A) T® (B) =

(C] == (D) ToreEm

A
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31 gt # w1 w @ Hafie gEdi #
fadgsn-diyfm A= aEae 7
(A) HEERE EA

(B) wfafda AmET

(C) =09 9 d HIYE U 7O TEAT
(D) war § sfr st vy &

a0 U T wY A FEa e

(A) TT ST AT e S HE
Gulll

@) Timn anfires fawat =1 Hien F 94
e T

(C) TSI T2 TaTSE Sol il T |

(D} === =i 3797 WA =maE
SR |

11 wfrwEi @ = o T wa 8 7

(8) FErdara e FFaa T
T=ATE |

B) Frnfifdiwwasmafu =
T =T # |

(C) = et =1 Wi = forn frniE
it 2 Ffa iy F e e |

(D) a1 A g - A =
3TENT - ST FI GEALE |

27 T § 0 e EEEn s e 7

(A) 5t U TR e |

(B) =TT 3 - o 3 TR &
T~ FOA S £ |

(C) =T i i geeeft § HH FH -
FAE

(D) =ETH RS F FR-FE ) TRE
T HEH HHA & |




JDD-16/PGT-AGRI/X-14 'R0 000 50 O O AT T R A =

v) Test of Language : English

WS UETE ; ST
81. Change the Passive : Youcan play | 85. DirectIndiract speech: The boy said,
with these kittens quite safsly. “Whao dare call you a thief ?°
(A) These kittens can played with (A} The boy enquired who dared call
quite safely. him & thief. |
{B) These kittens can play with you (B) E;_hﬁy asked who called him a
qitesstely. {C) The boy told that who dared call
{C) These kittens can be played with him a thiet,
you quite safely. (D} The boy wondered who dared call
(D) These kittens can be played with a thief.
Quite safely. Direction for Q. No. 86 and 87 : Complete
: the statement,
82. Selact the pair which has the same
relationship. 86. Ha has no money now i
TEN ; DECIMA (A4) although he was very poor once
(A) seven:septet (B) as he has given up all his wealth
B) four: quaret (C) because he was very rich once
. (D) because he has received huge
{G} "o tlll"l&r}' donation
(D) five : quince .
87. Heis solazy that he
Direction for Q. No. 83 and 84 : Choose the (A) cannot depend on others for
word which Is the exact OPPOSITE of the 5 E::‘:EI“LE *;'“’“lflm oy
: elay the schedule o
gesremnice, completing th: Work
83. AWARE (C) can seldom complete his work
- on time
A} Hncsrain (D) dishke to postpone the work that
(B] Sure he undertakes to do
). fnorant 88, Find the correctly spelt word
Wy U (A) Sepulchral (B) Sepilchre
84. HIRSUTE (C) Sepaichrul (D) Sepalchrl
[(A) Scaly 89, Find the correctly speit word
{B) Baid (A)  Acommodation
(C) Erudits {B) Accomodaton
D) Quiet {€) Accommodation
. (D}  Acomodation
Bx 20
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gn, Toleave somacne in tha lureh

(A) Tocomelo compramise with
SOMmeons

(B) Constantsou rce of annoyance to

SOMEONE
(C) Toputsomeone atease

(D) Todeser someons in his
difficulties

Direction for Q. Mo. g1 and 92 : One Word

Substitution.

g1, Tending to move away from the
centre or axis

(A) Centrifugal
(B) Centripstal
(C) Axiematic
(D} Awry

gz Teetotaller means
(A) Onewho abstains from theft
(B} Onewho abstains from meal

(C) Onewhoabstains from taking wine
(D) Cnewno abstains from malice

g3, Order the words : [Tyou nead help
P : promptly and politety
Q' ask for attendants
A : to help our customers
5 : who have instruchions
The proper sequence should be :

(&) SQPR
(B) QPSR
(c) QSRP
(D) SQRP

JOD-16/PGT-AGRUX-14

Direction for Q. No. 94 and 35 Identify
the error .
Solve as per the direction given above.

g4, (A) Youcanget

(C) In this book.
(D) Naoerror

g5, (A) The students were
(B} awailing for
(C) the arrivalof the chief guest.
(D) Moerror

Direction for Q. Mo. 96and 87 1 In the
following question chaose the waord which
hest expresses the meaning of the given
waord. '

a5, FORAY
(A) Maraud {B) Contest
(C) Ranger (D) Intuition
g7. RECKLESS
() Couragedus (B) Rash
(C) Bold (D) Daring

gg. Jawaharlal spent his childhood
Anand Bhawan.

(a) at (B) In

(C) on (D} -across
g9, | hate sitting him as he

always smells of gariic.

(A) besides (B) along

(C) at (D) beside
100, Some regions of our country still

remain 1o the average man.

(A) inaccessibie
(B} impossible

(C) Impermeabie
(0 impenetrable

-21-
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SECTION-B
Post Specific Subject-Related Questions

101, Blue Revolulion refers to 105.  Red colour in the petals of a rose
(A)  Agriculture flower is due to the presence of
(B) Fisheries (A) Chlorophyll
(C) Poultry (B} Xanthophyll
(D) Flood contral (C) Carotene

102, Ifthe dew point lemperature is above (2) Aﬂﬂmyﬂﬂfﬂ

the freezing then which among the

106. The percent of waler in ical
following takes place 2 E" g S

plant cell is about

(A} Dew
0
(B} Precipitation i
(C) RH-100 = =
(D)  Evaporation 1), - 40
(L) 85
103.  Indian Standard Time I8 related to
longitude of 107.  Plant age.can be found out from
(A) B2.30°E (A} Annual rings
(B) S0°E (B) Q. emission rates
(C) 60°E (G} CO, emission rates
(D) 90°E (D} None
104, Which is the largest Jute producing 108. Bordeaux mixture iz a
State In India 7 =t
{A)  Weedicide
[A) UR .
(B) W. Bengal {B) Fungicide
(C) AP {C} Pesticide
(D) Maharashtrs (D} Herbicide
Ax 23

Latest Sarkari Jobs, Govt Exam Re§ults, m
Vacancies and updates on one click



0 000 O 0 O

101

102.

103.

104,

WM —=

urz mfafes i - aafioes

et w1 T8 FEd B
(A) b
(B) WeE-5E

{C) FH%2
(D) e =

otz 3o el d wm b e d
FEM T

(A) =

(B =

RH-100

=

(C)
(D)
WA G 559 35 (9 § 5T 2
(A) 82.30°E
(B) S0°E
(C) 6O0°E

(D) 80°E

WA & AeaiaE AL TS T T
T+ HAEI R 7

(A) M
(B)
()
(D)

3, BT

T, 7,

J
1|§

105.

106,

107,

108.
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T F e % T = e o
A F Frm g

(A) TGS

(B) - Breiifs

(C) F0fA

(D) >fgmEFmEfE

U W St ST o ur o wh
GUELEAGIE

{A) 10

(B) 20

(C} 50

(D) 85

FAETI %1 39 SEE T ST AT a2
(A) aTii =

(B) O, 3o &

(C) CO, =1 3easH &

(D) g

Az faam a2
(A)
(B)
(C)
(D)
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108.

110,

111

112

A

Milk is deficient in
(&) Iron

(B) Protein
(C) Water

(D) Fat

Molasses is by-product of
{A) Sugar Beet

(B) Sugarcans

({C) Wheat

(D) Paddy

Decomposition of Proteins leads to
(A) Citric acids

{B) Amino acids

(C)] Acetic acids

(D) Ascorbic acids

Penicillin was discovered by
(A} Alexander Fleming

(B) Louis Pasteur

{C) Ronald Ross

(L Roenigen

-24-

113.

114,

115.

116,

0 O G 0 LU OO

Amul located at
(A} Anand

(B) Ahmedabad
(C} Allahabad
(D) Ahmadnagar

Who coined the term Gene 7
(A} H.Khurana

(B} Johansson

(C}) G.J. Mendsl

(D) Brown J. A,

Tha instrument that records

garthquakes

(A) Galvanometer
(B) Seismograph
(C) Barometer

(D) Ammeter

Agricultural Census in India is held
evely

(A} Syears

(B} 10years

(C) 15years

(D) 20 vyears
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109,

10,

111,

112

A

30 H e ol BT B
(A) T
(B) WA
(C) Wi

(D) ==

H 5aH I-FAEE
(A) ===t
(B) T

(c)

(D) =

TEAF IS T R
(&) T s

(B) it 3n

(C) uHfem wre

(D) EEFTTEH A

afafer 1 sTieRr 5a
(A} HETHIE TG

(B) T T

(C) THwEETE

(D) e

25~

13.

114,

115.

116.
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3T T e B
(A) R

(B) e

(C) wAeeTEmER
(D) srEEETT

= T
(A) TEL T

1

(B} STEFEA
(c) 1. 5. o=F
(D) FHE.T,

T AT 1 IR
(A) TeEmEE

(B) Higgmns

(C) =AM

(D) wmfrEr

N T W § S S R, '
(a) 5HmE
(B) 10T
(C) 15®=

(D} 20@
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7. The type of soil ideal for groundnut
cultivation is
(A} Sandy loam
(B) Clay loam
(C)

(Q)

Sandy clay loam

Clayey

118.  Who amang the following was known

as Father of Modern Genatics 7
(A} Srinivasan

(B) G.J. Mendel
{C) Brownd, A,

{D) Johansson

118, Rainbow formation is due'to

{(A) Reflection
(B)

()

Diffraction
Polarisation

(D) Refraction

120. Total Ferilizer consumption in India

(A)
(B)

17 mit
20 mt
(C) 25 mt
(D) 30mt

As

Latest Sarkari Jobs, Govt Exam Results,
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121.

122.

123.

124,

N O O A R O

Caorrelation coafficient range

(A) —pto+p

(B) Oto1
C) —1to+1

(D} MNona

Atwhattemp. are readings of both the
Centigrade and the Fahrenhait
thermometers are the same 7

(A) 40
(B) 60
(C) -40
(D) —-8&0

Which of the following js used for
artificial ripening of fruits 7

{A) Ethane

(B] Ethylene
(C)
(D)

Acatylene

Methylena

Which of the following is the modified
sterm of a plant 7

(A) Radish
(B) Turnip
(C)  Carrot

(D) Ginger
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117, gt F we & ousmmndisia | 121, gegeais e a
S (A) -p R ap
A
(A) TR i oa
), Retmi € —18+1
—18+
(C) mgam oAt g g
(D) =
(D) YT
5 118 S a e s i 122, mmmﬁ;j:ﬂtmm
ferarmere o s @ 7 > e
' A
(Ay  HifEms i e
@) .3 ke -
(C) ST B S
: (D) —B0
(D) SHEHEA
e wertiielaasy 123, m?aﬁmﬁiﬁ@ﬁwﬁm%w
= F o amEm e g ¢
(A} TEH e
A
B) P (A) U9
© ' (B} shafem
1 (C) uafem
(D) FiREA
.~. 120, WA H EF R FE AT 2
124, FAda w0 IR T ETEiE T |
(A 17 mt
(&) =
(B) 20mt B s
{CYy 25mt €y T
(D) 30 mt (D) &=
Ax 27
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125.  Black solls are most favourable for the
cultivation of which crop 7
(A)  Jute
(B) Cotton
(C) Rice
(D) Wheat

126. Who among the following was

considered as Father of Grean
Revalution 7

(A) C. Subramaniam
(B)
(C)
(D)

M. 5. Swaminathan
A. B. Joshi
R. S. Parcda

127. Which of the following grean

manure crop 7
(A}
(B)
(C)
(D)

Sunhemp
Bajra
Maize

Sarghum

128. The original seed produced for the
firsttime by the plant breeder is called
(A) Certified sesd

(B) Foundation seed

L) Breeder's ssed

(D) Mucleus seed

A
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128, The Pink City of India is
(A}
(B)
(C)
(D)

Hyderabad
Chandigarh
Jaipur

Cochin

130. Most commaonly used nitrogenous

fertilizer in India
(A) CAN

(B) Ammonium Sulphate
(C)

(D}

Urea

Diammponium Phosphate

131. Which of the following fertilizers are

not produced in Indig ?
(A)
(B) Potassium
(C)

Nitrogen

Phosphorous

(D) Gypsum

132.

Which of the following crop has
highest cultivated area in the World 7

(A}l Rice
(B) Wheat
(C) Maize
D) Gram




125, el A9 e wae = e sy
S A8 ?
(A} =2
(B) ==
(C) =mEe

Ll

Oy 7§
126. PO o efm o =1 eme g

AR 7

(A) Hrgaan

(B) UH.UH, SIS
(C) u.sh. wefh

(D) =W, TH. W=

127. PO dasRgI e EE S w7
(A)
(B) ==
(C) W=
(D) =

128. 9 FARI ITHATE RSl 1 qEE
= T I O B, T

(A) TR wT
(B) HF

(C] T st
(D) Feaw o
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130.

131.

132.
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v = fi=: g ol 2
(A) =R
(B) =f=mg

(C) =9%
(D) =i

WA | SITH ITANT T ST S
TR

(A) CAN

(B) e Herhe

(C) Firm

(D) =waIiHEs FEE

& & e Tt e T e
(A) TEZRE
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(D) TForgEm
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133. Which of the following is not a cereal ? | 137. The structure of a DNA molecule is

(A Wheat (A) Circular
(B) Sugarcane & Oval

o (C) Double helix
(D) Maize

(D) Zigzag chain

134. The scientific name for wheat is
138, Soil erosion is mostly affected by

(A) Rainfall intensity
(B) Rainfall variability

(A) Oryzasativa

(B) Medicago sativa

(C) Zea Mays (C) Rainfall distribution

(D) Triticum aesfivum (D) Total annual rainfall
135. Potatoes stora food mostly in the 139. The main effect of raindrop erosion s

form of (A) Transpor of soil particles by fast

flowi ater
(A) Sugar i W
: (B) Detachment of soll paricles thus
(B) Fibre i
destruction of soil structure

E) S {C) Beginning of gully arosion

(B} Ry (D) Heducing soil moisture content
136. The molecule which stores the 140, Tilageisi Akt erop .

genetic material is hecausa it

(A) RBNA (&) Destroys soll structure

(B) DMNA (B) Prepare agood seed bed

(C)  MNuclei {C) Improves soil colour

(D} Chromosome (D) Increases the acidity of the soil
A 30-
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133.

135,

138,

- -

134.

O O

fedasrm o it ?
(A} T

(B) =0

(C) =t ()

(D) =FH

T & AT A 8

(A) Ornzasativa

(BY Medicago saliva
(C) Zea Mays

(D) Triticum aestivum

e TR 9 34 55 &9 § H5UE
TR

(A} RO

(B)

(C) =

(D) 3= (Fmae)

] T T W 1 wufes T,
EEE

(A) RNA

(B) DNA

[C) F=F

(D) T

137,

138.

138.

JOD-16/PGT-AGRI/X-14

DINA 379 &1 HL=41 B 7
(A) TR
(B) SUETEHN

(C) TN FvEd
(D) ZH-TEtsEn

- 570 ST $HE W7 B 6
(A} =TT A

(B) =i afEdasfiem

(C) === faam

(D) HE AT aat

i -fag ® FRaE g e

it §

(A) S AT I T A RS S
e

(B) firdh & wori 1 se B9 B T A
HEA A

(C) T -0 =] TE

(D) Tt &t ekt & v = R

140, FHET TeNEA F o e e & =i

(8) T Eam
8y ==+ fow =g il fam F
(C) fordl = i Twe wo
(D) THE!=h! stveva FmEn
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141. The bacteria responsible for nitrogen 145, Which of the following soil water types

fixation in nodules of legumes is is the miost impartant for crop growth 7
(A) Nitro-bacter (&) Chemically bound water

(B) Streptococcus (B) Hygroscopic waler

(C) Rhizobium (C) Capillary water

(D) Sporangium (D) Gravitational water

f ' [t
142, The technique of growing legum 148, Science that deals with the control of

loughi ack into the soll is
and ploughing back Nt s
known as

{A) Symbictic fixation

(B) Nitrification

(A) Agronomy
(8) Entomology

(C) Greenmanuring {C) Animal Husbandry

(D) Fertilization (D) Ecology

143. ‘Which is the most commanly used 147, Aweedisa

potassium fertilizer 7 (&) Useless plant

(A} Sulphateof potash (8) Plant that grows where it i= in not

{E]I F'DlESE'tLIrTI oxide Wﬂﬂtﬂ‘d

(C} Muriate of potash (C) Ptant which kills insacts

(D) Potassium permanganate (D} An unpalatable plant

s44. The'rate of entry of water into the soil Joa
148. Pracipitation 18 another nama for
would be best descnbed as

Al Humidit
(A} Transpiration rate LAl idity

(B) Infiltration rate (B) Wind speed

(C) Permeability (C) Atmopsphers pressure

(D} Water holding capacity (D) Rainfall

A_i ,32.
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141.

142,

143,

144,

et o TS = H AT T &
foe formmm amefon @
) EE-a
(B)
(C) TR
(D) il

AT =Rl 3T 39 FToE i i
T 1 FEA £

(A) EEETE T

(B) AEdEET

(C) EfazE

(D) T

FTUAT T 3G J ST G s
T HAET R 7

(A) T e

(B) Wy afes

(C) =iz ATF A

(D) s wHEE

52t 1w T e o S IeE w5
TR AEA T T EFT R

(A) FOITESAE

(B) =0 (qE03) &
(C
()

T T A TRl TEA

145,

146.

147,

148.
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Eg”/ Relative Humidity measure the
(A)
(B}
(C)
(D]

Fercentage of molsture in the soil
Weight of water in the soil
Percentage of moisture in the air

Percentage of moisture in a

vacuum

150. A rain gauge measures rainfall in
(A)  Millibars
{B8)

(G} Millimetars

Kilograms

(D) Pascals

151, The sugar in milk is called

{A) Lactose

(B) Mineral

({C) Casein

(By Curd

1582, The first secretion of milk from the

mammary glands is known as

(A) Colostrums

(B} MNutriflavin

(C) Cixviooin

(D} Mammary fiuid

A

153,

154,

155.

156,

-34-

Photosynthesis is an
(A)
(B)
(C)
(L)

Oxidation process
Reduction process
Oxidation - reduction pr&cess

None

The geographical area of India is

nearly
(A) 128
(B) 145
(C) 328

(D) 300

Harbicide is used to control
(A} PRodents

(B) Pests

(C} Earthworms

(O} Weeds

Inflorescence of sugarcane is called as

(A) Arrow

(B} Spike

(C)

Panicle

{0} Nona
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149,

150.

151,

152

As

e HTHeT §EF A1941 8 153.

(A) Tt E el e 5 uf
B8 I e
(C) TR el et = v
(D) T = el it =5

= OO T4 2 gy d 154,

(A} HiEER
B) Freimmm
(C) Wit
(D) g

ﬁﬁﬁqﬁiﬁﬂﬁﬂ*ﬂﬁﬁﬂi 155,

(A) TEEm
(B) =l
(C) Fm
(D) =#

51 T 6 o HE TR g A

FEd & 156,

(A) e

JDD-16/PGT-AGRIX-14

Y- R

(A} et ufEn

(B} 3verae ufikn

(C) Heretam-sTa=re wiza
(D) FEFH

I 1 e faeam s
(A) 128
(B} 145
(C) 328

(D) 300

AT = F e & e
fepeay = @

(A) =i

(B) #=

(C) 5=

(D) #Tgm

7T 3 o i e B
(A) I

(B) FrE®

(C) TH-T=3

(D) FETE
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157,

158,

158,

160

A=

Which of the following gases
contributes maximum to global

warming 7
(A) Methane
®) CO,
{C) N,O
(D) CFC

The specific heat of water is
(A) 1calg

(B) 1calkg

(C) 2callg

(D) 10calg

Mscent of sap takes place through
(&) Phloam

(B) Xylem

(C) Parenchyma cells

(D) Stomata

End product of glycolysis is
(A) Citric acid

(B} Acetic acid

(2 Pyruvic-acid

(D) Picric acid
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161.

162.

- 163.

164.

Mirimum degrees of freedom
required for a good statistical
analysis is

(A) &
(B) 12
(C) 15
(D) 20

Among the following which form of
watar erosion is the initial stage 7

(A) Sheet
(B) Rill

(C) Splash
(D) Guilly

The number of legs an insect has is
(A) 2
(B) ©
({C) 10
(D) 14

Thea metal associated with
hemoglobin s

(&) Copper
(B) Sulphur
(C) lron

(D) Nickel




Jhnlmmmm.n

157, g Wﬁﬁaﬁﬁﬁmﬁ

e fea 8 7 181. ﬁmﬁﬁﬂmﬁ
@) R TR A
N {:} :a-
©€) NO
(D) cFc 2 P
(D) 20
158. Tt i} fafires sy 3 162. 51 # & 98 vy
(A) 1 calig S 7 T B I FE o)
B) 1catig NGRS
(€) 2calg (B) rem
D) 10calg (C) @R
158, T8 ST g 2 s ' sl
(4) T 183, %1z % &% o v v 4
B) F=zes (4) 2
(C)  Tariims iy (B) 8
(D) g () 10
i P (D) 14
A Tl s | 164, PR e g g
B) Wl (A)
(€) Trrefis we= (B) TEwr
D) ot sme (C) =
| (D) Fmmr
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185. The agar-agar is a product obtained 169. Most important cereal crop in india is

from (A) Wheat
(A) Algae

(B} Rice
(B) Bacteria

(C) Fungi (C) Pearl millet

(D) Higher Plants (D) Maize

166. Operon concept was given by 170.  Conservation agriculture mainly rely on

(&) Messdson and Stall (A} Minimum mechanical sofl
disturbance

(B) Watson and Crick

(C) Beedle and Talum (B) Soil cover with residues

(D) Jacob and Monod (&) Crop diversification
(D) All of these

187. Golden rice is a transgenic of rics
171. Symptoms of Nitrogen deficiency is

rich in

(A} Vitamin A first appear on

(B) Vitamin B (A) Older leaves
([C) Calcium (B) Younger lsaves
(D) Protein (C) Whole plant

(D) Leaftips

168. Which among the following crop is a
172, The major factor affecting fand

degradation in India is

indicator plant for moisture stress 7

(A} Castor
(A) Watererosion

(Bl Date palm
(B} Wind arosion

(Cl Sunflowsar
(C}  Chemical deterioration

D) Maijze
|0} Iz | (D) Physical deterioration
Ax -38-
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168,

i 166,

188.

A+

167.

SN~ 37972 36 Hoet R
(A) Wi
(B) =it

(C) ®3e
(D) I=aTamfE

AT H T ot
(A) HEgE N

(B) =2Hd 30 s

(C) Htem afizem

(D) = i aTs
TEN S TR S & 2 =y
& forerd a7 fages w4 ey 3
(A) FafET

(B) Te=fim

(C) Feriim

(D) =N

=158 i v, o e B
I R 7
(A) Ty
(8)
(C) T

(D) T

168.

170.

JDD-16/PGT-AGRIX-14

e T8 v ST o e 2
(A)

(B) ==

(C) =rg

(D) =R

R Y s ge g e @
(A) =g wefi awi o
(B) = FT &I # 3r=mE
(C) o= fafawmm

(0) =&

174, m@mﬁ;mﬁ%mwﬁmﬁﬁﬁaﬁ

172.

(A) G TR
(B) T
(C) W w
(D) wwifidEw

M B ST ST T T e A
1 & #

(A) =& ==

(8) Ig=FE

(C) TR s

(D) Wrpfae s
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173.

174,

1735

176.

As

EI'Ning is rafated 1o
(A} Forest

(B) Land

(C) Biodivers ity
(D) Climate

Split application of tertilizer is very
effective in enhancing fartilizar use
efiiciency of

(A)  Nitrogen

(B) Phosphorys

(C) Potassium

(D) Micronutriart

Soil hava highest watar holding
capacity

(Al Laterita sgi

(B) Biack cotlon soils

{C)  Alluvial soff

(D) Red =oil

Acid soils are ameanded by
(A)  Gypsum

(B) Lime

(C)  Sulphuric acid

(D) CaCl,

177.

178.

R g g g ©

Saline soils are reclaimed by
(A} Addition of gypsum

(B)  Addition of fime

(C) Leaching of soluble salis

(D)  Addition of pyrite

If the nutrient is Immaobile in the soil
plant, the deficiency symploms are

first observed on

(A} Younger leaves
(B} Middie leavas
(C} Older lsaves

(D) Flowarsg

Mifk turns soyr due to conversion of

Lactoze 1o =k __aci.

(A) Citrig
(B) Lactic
(C)  Acetie

(D) Aseorbic
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(8 ==

(C) =a-fafnm

IREE

o ) fasfEn I s sfhw I
=1 wHe] gw o aE v e

(A) AR

(B) wiEwRE

(C) it

(D) wmH e
Eaﬂqﬁqﬁﬁr@aﬂaﬁtaﬂrﬁﬁ
GECIEAGIE

(A) FETE Fi

(B) FYTE ToE &1 Frell 96e

(C) Farl e

(0) o SHA

174,

175,

T T FHEA F I T GEE =
wFA#

() TorEm
(B) =
(C) HEAH o=

(D) CaCl,

176.

-41-

177,

179.
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SIS S ] 56 R T A
i
(A) Torgem & gfada g
(B) = Fuftad=a
(C) I Fuwam w1 faaram o

(D) e & gfada &

178, =T =eafa o o ol a2,

A1 ST % e Tee g T 2
(A) T

(B) T=wH

(C) W
(D) F=

FURRE L - - &

Llic it bick-Rerrd-edorn k-0
(A) Thfge s )
(B) a3

(C) vAfes s

(D) THETEE 3
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180. Apex bank in Agriculture sector is 184. Silkis produced by the caterpillars of
3 g0
(A) NABARD
) (A) Bombycidae and satumiidae
(B) LandB
(B) Coccinellidas
C) PNB
(C) (C) Noctuidae
(D) SBI
, (D) Apidae
| 181. Thedryicei
ry ice is made of 185. Aflatoxin is a sericus problem in
(A4) Nitrogen (A) Tea
(B) Carbon dioxide (B) Mango
| {C) Waterand sait (C] Groundnut
| (D) Helium (0 Soyabean
| 182, Cottorfibess 47 laigely ki g 186. Apiculture is the sclence of
(&) Lignin (A) Tissues culture
B Starch {B) Fisherias
(C) Cellulose 53 BRkain
(D) Mone of these VIV IERHEE o
187. Which the fall i
183.  Largast size of the honey bee is i fu”ar.nn::n it lnl'uwlng Nadiee
v im n india 7
(A) Apis ficras
(A} Nitrogenous
(B} Apis dorsats {E} F’husphal'
ic
[[#}) Apis cerzna indica {C) Potassic
(D) Apis mollifera (D) Both (B} and (C)
A=+
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180. =% & =7 o i 2
(A) NABARD
(B)] LandB
(C} PNB

(O} SBI

181, % % 36 w2
(A) R
(B) =T s
(C) Tt s
(D) #iferam

182, Hdl w0 4 SrEre: @ g
(8) =FrEm
(8) =
(C) Hegei

(D) TEE=EF

183, UqAEl =1 7o 92 aEn
(A} Apis fioras
(B) Apis dorsata
(C} Apis cerena Indica

(D) Apis mellifera

A=

=33~

184,

185,

186

187.

JDD-16/PGT-AGRIX-14

T ] IR $9 et e B
(A} Bombyeidae and satumiidae
(B) Coceineflidag

(C} Noctuidae

(D) Apidae

ST T8 T T A
(A) ==
(B) =mm

(C) T
(D) HWaH

HAHE T T T T R
(A) S HEEA

(B) wl

(C) e T

(D) WmEErqET

et 5 4 e 3 e & i
ATaT T A E Y

(A) T

(B) wEES

(C) s

(D) (B) 3w (C)
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188, Most harmful insect for cotton
{A)
(8)

{C)

Jassids
Pink boll worm
Spotted boll worm

(D) Termile

188. The largest tea producing in India is
(A)
(8)
(C)

(D)

Bihar
Assam
Kerala

Tamil Nadu

180, Branch of science that deals with

fruits
(A} Psychaology
(B}
(C)

(D)

Olenculture

Pomology

Physiology

181. Which organism fixes atmospheric

nitrogen non symbiotically ?
(A) Azotobacter
(B)

(G

MNitrobacter
Mitrosomonas

(D) Mitrosococcus

Ax

-34-

182.

183.

194.

185.

L 8
0P 00900 O 00

Edible part of mango fruit is
(A} Pericarp

(B) Epicarp

({C) Endocarp

(D) Mesocarp

Gourds belong to family
(A) Malvaceas

(B) Convolvulaceae
(C) Cucurbitaceas

(D} Cruciferae

‘Tomato belongs 1o the family
(A) Solanaceae

(B} Leguminaceaa

(C) Cruciferae

(D) Nona of thess

In coconut the edible part is
(A} Pericarp

(B) Endosperm

(C) Endocarp

(D) Thalamus
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e = Tem srrafie e e
(A) T=gET

(B) TEEHEEAEE

(C) Tereiiam aiiariry gt

(D) =

188,

I 1 ST 92 9 e T T
(A) FEEm

(Bl
(C) e
(D) wfaEE

189.

HHH

el B wEEfe e e
(A) AT

(B) STERTEEA

(C) -

(D) i

180,

FIH S TEEE TS T
AEaET O fem s 2

191.

(A) Azoicbacter
(B) Nitrobacter
(C] Nitrosomonas

(D)
A

Mitrosococous

“45-

182,

193.

194,

185.

JDD-16/PGT-AGRI/X-14

AR 1 A 90 8 2
(A} HETET

(B) wigaERm

(C) d: wo-fufa

(D) ey er-fals

Fag g g e s e TEa £ ¢
(A) Malvaceas
(E)

(C)

Convolvulaceae
Cucurbitaceas

(D) Cruciferas

22T T TR o T T
(A} Selanacsas
(B) Leguminaceae

(C] Cruciferas
(D) %8 4 =0

T 7 @ 3 g e 2
(A) EEETT
(B) vERH
(C) = w=-ffs

(O} ToEA
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186.

197.

198.

Ax

Which of the following mango variety 199.
is a hybrid 7

(A} Dashehari
(B} Alphonso
(C) Amrapalii

(O) Neelum

Vitamin that prevents night blindness is
(A) A

(8) B
(C)y C
D) D
Water has maximum density at
(A) 4°K

(B) 4°C

e} —4°C

(D) —40°C

0 0 1 e
Which part of the cocoa tree is the
source of natural chocolate flavour 7
(A) Stem
{B) Leaves
{C) Flower
(D} Seeds
Match the following
a July 11 1. Earth Day
b. April 22 2. Food Day
& June s 3. Environmental Day

d. October 16 4. Population Day

e, December 23 5. Farmers Day
abcde

(A) 5 2 3 4 1

B) 4 1 325

¢ +4& 258 3

) & 2314
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(A) el

(B) ETHIEl

(C) ETeal

(D) Hem

196.

Tt < ot =51 T 2
A
(B)
(C) Hi
(D) =

197.

198.
Gl

(A) 4K
B 4°C
(C) —4°C

(B —40°C

Ax

T AT T (58 AR W) i

JDD-16/PGT-AGRI/X-14

199, FEITEFFE fFE wEE Tt

200,

47
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(A)

(B) i

C) =

(D) ==

Fm i witen wwEy

a 119@% 1, el (394} T

b. 22 37 2 311 (g8) g

¢ 553 3, T e

d. 16 3F= &, FaET fegw

g, 23 Fmen 5, % Fas
abcde

{A) 52341

(B 41325
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